



Cross spectral Dansity (Or) Cross power spectral Density consider two forntly was soundom processes X(t) and Y(t).

Let $R_{\chi\chi}(\tau)$ and $R_{\chi\chi}(\tau)$ be their cross correlation function. Then the Cross spectral dansities are,

 $S_{xy}(\omega) = \int_{-\infty}^{\infty} R_{xy}(\tau) e^{-i\omega\tau} d\tau$ $S_{yx}(\omega) = \int_{-\infty}^{\infty} R_{yx}(\tau) e^{-i\omega\tau} d\tau$



SNS COLLEGE OF TECHNOLOGY (An Autonomous Institution) Coimbatore – 641 035 DEPARTMENT OF MATHEMATICS CROSS POWER SPECTRAL DENSITY



 $Real Part of S_{xy}(w)$ is an even function of w. ie, $S_{xy}(w) = S_{xy}(-w)$

Proof:

$$S_{xy}(\omega) = \int_{-\infty}^{\infty} R_{xy}(\tau) e^{-i\omega\tau} d\tau$$

$$= \int_{-\infty}^{\infty} R_{xy}(\tau) (\cos \omega \tau - i Sn \omega \tau) d\tau$$

$$= \int_{-\infty}^{\infty} R_{xy}(\tau) (\cos \omega \tau - i Sn \omega \tau) d\tau$$
Real part of $S_{xy}(\omega) = \int_{-\infty}^{\infty} R_{xy}(\tau) \cos \omega \tau d\tau$

SNS COLLEGE OF TECHNOLOGY
(An Autonomous institution)
DEPARTMENT OF MATHEMATICS
CROSS POWER SPECTRAL DENSITY

$$interpretext{action of a large} = \int_{-\infty}^{\infty} R_{xy}(\tau) \ \text{for } (-\omega) \tau \ d\tau$$

$$= \int_{-\infty}^{\infty} R_{xy}(\tau) \ \text{for } \omega \tau \ d\tau$$

$$= Re \left[S_{xy}(\omega) \right] \quad \therefore \ (\alpha t) (-\theta) = (\alpha t) \theta$$

$$\therefore Re \left[S_{xy}(\omega) \right] \quad \text{for } \omega \tau \ \text{for } \omega \tau \ \text{for } \theta \right]$$

$$\therefore Image parts of R_{xy}(\tau) e^{-i\omega \tau} \ d\tau$$

$$= \int_{-\infty}^{\infty} R_{xy}(\tau) (\omega t) \ d\tau \ d\tau$$

$$= \int_{-\infty}^{\infty} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{\infty} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{\infty} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\tau) Ser \ (\omega \tau) \ d\tau$$

$$= \int_{-\infty}^{0} R_{xy}(\omega) \left[Ey \ (\tau) \right]$$



SNS COLLEGE OF TECHNOLOGY (An Autonomous Institution) Coimbatore – 641 035 DEPARTMENT OF MATHEMATICS CROSS POWER SPECTRAL DENSITY



J. The class power spectrum of a near nargon Process X(t) and Y(t) is given by, $S_{xy}(\omega) = \int a + \frac{ib\omega}{\alpha}, -\alpha < \omega < \alpha, \alpha > 0$ (0, otherware. correlation function. Find the leases Soln. $R_{xy}(\tau) = \frac{1}{2\pi} \int S_{xy}(\omega) e^{i\omega\tau} d\omega$ $= \frac{1}{2\pi} \int \left(a + \frac{ib\omega}{\alpha} \right) e^{i\omega\tau} d\omega$ $= \int_{\alpha = i}^{\alpha} \int_{\alpha = i}^{\alpha = i} d\omega + \frac{1}{2\pi} \int_{\alpha}^{\alpha = i} \int_{\alpha}^{i} \frac{i}{2\pi} d\omega$ $= \frac{\alpha}{2\pi} \left[\frac{e^{i\omega\tau}}{i\tau} \right] + \frac{ib}{2\pi\alpha} \left[w \left(\frac{e^{i\omega\tau}}{i\tau} \right) - \left(\frac{e^{i\omega\tau}}{(i\tau)^2} \right) \right]$ $= \frac{q}{2\pi i \tau} \left[e^{i\alpha \tau} - e^{-i\alpha \tau} \right] + \frac{ib}{2\pi \alpha} \left[\left(\frac{a}{i\tau} e^{i\alpha \tau} + \frac{e^{i\alpha \tau}}{\tau^2} \right) \right]$ $-\left(-\frac{\alpha e^{-i\alpha \tau}}{i\tau}+\frac{e^{i\alpha \tau}}{\tau^2}\right)$ $= \frac{q}{2\pi i t} \left[2i sin q T J + \frac{ib}{2\pi q} \left[\frac{q}{1 T} \left(e^{iq T} - e^{-iq T} \right) \right] \right]$ + + (eixt eixt)] = $\frac{\alpha}{\pi\tau}$ SPD AT + $\frac{ib}{2\pi\sigma} \begin{bmatrix} \alpha \\ i\tau \end{bmatrix}$ 2 Coe AT + $\frac{1}{\tau^2}$ 2i Sinal = a SPAT + b COS at - b SPAT





2) IF the check conselation of two processes.

$$5x(t,3)$$
 and $5x(t,3)$ is $F_{xy}(t,t+t) = \frac{AB}{2} [5\pi a_{0}\tau_{0}\tau_{0}+coc(\omega_{0}(2t+\tau))]$
where A, B are would conclusts. Find the Gross
fower spectrum.
gebs.
The time average is given by,
 $F_{xy}(\tau) = \frac{1}{2}\pi \int_{-T}^{T} \frac{AB}{2} [5\pi \omega_{0}\tau + \cos\omega_{0}(2t+\tau)] d\tau$
 $= \frac{1}{2}\pi \int_{-T}^{T} \frac{AB}{2} [5\pi \omega_{0}\tau + \cos\omega_{0}(2t+\tau)] d\tau$
 $= \frac{AB}{2} [\frac{1}{2}\pi \omega_{0} \frac{1}{2}\tau \int_{-T}^{T} Sin(\omega_{0}\tau) d\tau + \frac{1}{2}\pi \omega_{0} \frac{1}{2}\tau \int_{-T}^{T} (\cos\omega_{0}(2t+\tau))]^{T}$
 $= \frac{AB}{2} [Sin \omega_{0}\tau + \frac{1}{2}\pi \omega_{0} \frac{1}{2}\tau \int_{-T}^{T} Sin(\omega_{0}\tau) d\tau + \frac{1}{2}\pi \omega_{0}(2t+\tau)]^{T}$
 $= \frac{AB}{2} [Sin \omega_{0}\tau + \frac{1}{2}\pi \omega_{0} \frac{1}{2}\tau \int_{-T}^{T} Sin(\omega_{0}\tau) d\tau + \frac{1}{2}\pi \omega_{0}(2t+\tau)]^{T}$
 $= \frac{AB}{2} [Sin \omega_{0}\tau + \frac{1}{2}\pi \omega_{0} \frac{1}{2}\tau \int_{-T}^{T} Sin(\omega_{0}\tau) d\tau + \frac{1}{2}\pi \omega_{0}(2t+\tau)]^{T}$
 $= \frac{AB}{2} [Sin \omega_{0}\tau + \frac{1}{2}\pi \omega_{0} \frac{1}{2}\tau \int_{-T}^{T} Sin(\omega_{0}\tau) d\tau + \frac{1}{2}\pi \omega_{0}(2t+\tau)]^{T}$
 $= \frac{AB}{2} [Sin \omega_{0}\tau + \frac{1}{2}\pi \omega_{0} \frac{1}{2}\tau \int_{-T}^{T} Sin(\omega_{0}\tau) d\tau + \frac{1}{2}\pi \omega_{0}(2t+\tau)]^{T}$
 $= \frac{AB}{2} [Sin \omega_{0}\tau + \frac{1}{2}\pi \omega_{0} \frac{1}{2}\pi \log (\omega_{0}\tau) d\tau + \frac{1}{2}\pi \log (\omega_{0}\tau) d\tau + \frac{1}{2}\pi \log (\omega_{0}\tau) d\tau + \frac{1}{2}\pi \log (\omega_{0}\tau) d\tau$

23MAT203-PROBABILITY RANDOM PROCESSES

5





 $= \frac{AB}{2} \left[\int_{-\infty}^{\infty} S_{90} w_{0} \tau \cos \omega \tau d\tau - i \int_{-\infty}^{\infty} S_{90} w_{0} \tau S_{90} w \tau d\tau \right]$ $=\frac{AB}{2}\left[\frac{1}{2}\int \left[\frac{1}{2}\int \left[\frac{1}{2}\int$ $\frac{1}{2}\int \left[\cos(\omega-\omega_0)\tau - \cos(\omega+\omega_0)\tau\right] d\tau$ $= \frac{AB}{4} \left[\int_{-\infty}^{\infty} \$ n \left[(w_0 + w) T + \$ n \left((w_0 - w) T - i \cos (w - w_0) T + i \cos (w + w_0) T \right] d\tau \right] + i \cos (w + w_0) T d\tau \right]$ $= \frac{AB}{4} \int \left\{ i \left[\cos(\omega - \omega_0) \tau - i \, 8Pn \, (\omega - \omega_0) \tau \right] \right\}$ -i[cos(w-wo) T-i S9n (w-wo) T] } dT $= -i\frac{AB}{4}\int \left[e^{-i(\omega-\omega_0)T} - e^{-i(\omega+\omega_0)T}\right] dt$ $= -\frac{i}{4} AB \left[\int e^{-i(\omega - \omega_0)T} dt - \int e^{-i(\omega + \omega_0)T} dt \right]$ $= -\frac{iAB}{4} \left[2\pi S(\omega - \omega_0) - 2\pi S(\omega + \omega_0) \right]$ $= -\frac{i\pi AB}{2} \left[S(w-w_0) - S(w+w_0) \right]$

23MAT203-PROBABILITY RANDOM PROCESSES

SATHYA S/SNSCT/MATHEMATICS

6



SNS COLLEGE OF TECHNOLOGY (An Autonomous Institution) Coimbatore – 641 035 DEPARTMENT OF MATHEMATICS CROSS POWER SPECTRAL DENSITY



3. Given the face spechal density
$$S_{xx}(\omega) = \frac{\omega^2 + 9}{\omega^3 + 5\omega^2 + 4}$$

prod the mean square value of the process.
Given $S_{xx}(\omega) = \frac{\omega^2 + 9}{\omega^3 + 5\omega^2 + 4}$
put $u = \omega^2$
 $S_{xx}(\omega) = \frac{\omega + 9}{\alpha^2 + 5\omega + 4} = \frac{\omega + 9}{(\omega + 1)^{x} + \omega + 4} = \frac{4}{\omega + 4}$
 $\alpha(\pm 9) = \frac{4(\pm 9)}{\alpha^2 + 5\omega + 4} = \frac{(\pm + 9)}{(\omega + 1)^{x} + (\omega + 4)^{x}} = \frac{4}{\omega + 4} + \frac{8}{\omega + 4}$
 $\alpha(\pm 9) = A(\omega + 4) \pm B(\omega + 1)$
put $\omega = -1$, $\pm 1 + 9 = A(-1 \pm 4) \pm 0 \Rightarrow A = \frac{8}{3}$
 $\omega^2 + 1 = -\frac{5}{3}$
 $\omega^2 + 1 = -\frac{5}{3}$
 $\omega^2 + 1 = \frac{8}{3}$
 $\omega^2 + 1 = \frac{1}{3}$
 $\omega^2 + 1 = \frac{8}{3}$
 $\omega^2 + 1 = \frac{1}{3}$
 $\omega^2 + \frac{1}{$

23MAT203-PROBABILITY RANDOM PROCESSES

SATHYA S/SNSCT/MATHEMATICS

7